Name Geometry 2-5 Algebra and Geometry Proofs Worksheet

Fill in the missing reasons for each proof.

1. Given: 4x+5 =29 2.Given:2(x —3) =8
Prove: x =6 Prove: x =7
Statements | Reasons Statements Reasons
1)4x+5=29 1)
1.2(x—3)=8 1.
2)4x = 24 2)
2.2x—6=28 2.
3)x=6 3)
L.2x =14 3
4.x=7 4
3. Given: 3x — 4 = %x +6 4. Given: KM = 35 =5 W
Prove: x = 4 Prove: x=10 K L M
Statements Reasons Statements Reasons
1.3x—4=%x+|5 1. 1. KM =35 1.
c 2.KL+LM =KM 2.
2. EX —4 =8 2.
3.2x—5+42x =35 3.
3. -x=10 3
4, 4x —5=235 4,
4.x=4 4
5. 4x = 40 5.
6.x =10 6.
. 2x — 2 4(x + 1)
5. Given: AB=50 C 3
Prove: x =8
Statements Reasons
1. 1. Given
2.AC+CB=AB 2.
3. 3. Substitution
4. 2x—2+4x+4 =50 4,
5.6xr+2 =50 5.
B. 6. Subtraction Property
7.x=28 7.




6.

7.

Given: E is the midpoint of DF

_bx+5 B -1

Prove: x =3 D E f
Statements Reasons
1.) E is the midpoint of DF 1.)
2.) DE = EF 2.)
3) 3.) Definition of Congruent Segments
4) 4.) Substitution
5)8x—-1=6x+5 5.)
6.) 2x—1=5 6.)
7.) 7.) Addition Property
8.) 8.) Division Property

Given: ZQWT and ZTWX are complementary
Prove: x=28

Statements Reasons

2. meQWT + meTWX =90 |2

3. 3. Substitution

4, 3x+6="90 4,

5. 5. Subtraction Prop of =
6.x=28 G.

(2%
{(x +6)°

8. Given: LM bisects ZKLN i
Prove: x =20 2%+40) ax=
Statements Reasons
1. LM bisects LKLN 1.
2. /KLM = /MLN 2. L
3. msKLM = m£MLN 3.
4. 4. Substitution
5.40 = 2x 5.
6.20=x 6.
7.x=20 7.




